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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet,

1- Your new spokesperson is very -—---— and clearly comfortable speaking in front of
large audiences.
1) impatient 2) willful 3) voluble 4) modish

2- That ring is made from an --———-- of minerals; if it were pure gold it would never hold
its shape.
1) occurrence 2) elaboration 3) intervention 4) amalgam

3- Fortunately, the parliament -———-— the new law that would prohibit companies from
disecriminating according to race in their hiring practices.
1) abridged 2) ratitied 3) magnified 4) persuaded

4- The teacher did not appreciate the student's -———— and gave him detention.
1) sarcasm 2) advent 3) blunder 4) reverie

5- The police have not yet been able to find the missing child; to all of the searchers, the
child's location is still a great --------- .

1) fallacy 2) enigma 3) remorse 4) sympathy

6- I really feel sad to say that we are now witnessing environmental destruction on an
————— scale.
1) implieit 2) inadvertent 3) articulated 4) unprecedented

7- Ted was severely --------- by his colleagues for his use of offensive language when
addressing the guests.
1) deviated 2) castigated 3) resigned 4) hardened

8- As shrinking military budgets add to economic woes, arms manufacturers are -—-——-
seeking to expand their markets.
1) nocturnally 2) equivocally 3) indecisively 4) aggressively

9- Much to my ------- --, I should confess that we don’t have a good indication that women
are actually taking better care of themselves today.
1) indifference 2) veritication 3) chagrin 4) jubilance

10- 1t is to be remembered that living in a -—---—--- country is no guarantee you will

necessarily live a long life.

1) prosperous 2) conceptual 3) conceivable 4) long-winded

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

The human question is the big one. (11) —---—-- on humans are very thin. Most human
populations that are forced to survive on low-calorie diets are also malnourished and are as
likely (12) --------- from vitamin and mineral deficiencies. (13) --------- is on the Japanese
island of Okinawa, Wallord notes: *“The Okinawans have about (14) --------- the calorie intake
of the rest of Japan. They eat mainly fish and vegetables. They have as much as 40 times the
meidence of people (15) -=-—----- 100. They have less diabetes. tumors and so forth than the rest
of Japan.”
11- 1) The data exist 2) The data whose existence

3) Existing data that are 4) The existing data
12- 1) not to die as prematurely 2) as not to die prematurely

3) so not to prematurely die 4) not to die prematurely as
13- 1) Only one exception to know 2) The only exception to know

3) The only known exception 4) One exception is only known



14- 1) 70 percent of 2) a{?ercenlage of 70
3) 70 percent 4) 70 of the percentage
15- 1) in 2) for 3) over 4) with

PART C: Reading Comprehension:

Directions: Read the following tow passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1

A loader is a type of nm tractor. usually wheeled, sometimes on tracks, that has a front-
mounted square wide bucket connected to the end of two booms (arms) to scoop up loose
material from the ground. such as dirt. sand or gravel, and move it from one place to another
without pushing the material across the ground. A loader is commonly used to move a
stockpiled material from ground level and deposit it into an awaiting dump truck or into an
open trench excavation. The loader assembly may be a removable attachment or permanently
mounted. Often the bucket can be replaced with other devices or tools for example. many can
mount forks to lift heavy pallets or shipping containers, and a hydraulically opening
"clamshell" bucket allows a loader to act as a light dozer or scraper. The bucket can also be
augmented with devices like a bale grappler for handling large bales of hay or straw.
Large loaders. such as the Kawasaki 93ZV-2. John Deere 844K, Caterpillar 950H, Volvo
LI20E, Case 921E, or Hitachi ZW3 10 usually have only a front bucket and are called Front
Loaders, whereas small loader tractors are often also equipped with a small backhoe and are
called backhoe loaders or loader backhoes or JCBs. after the company that first claim to have
invented them. Other companies like CASE in America and Whitlock in the UK had been
manufacturing Excavator Loaders well before JCB. The largest loader in the world is Le
Tourneau L-2350, Currently these large loaders are in production in the Longview. Texas
facility. The 1.-2350 uses a diesel electric propulsion system similar to that used in a
locomotive. Each rubber tired wheel is driven by its own independent electric motor.

16- According to the passage,..............
1) a loader can function as a bulldozer
2) small loader tractors are called “backhoe’
3) a loader’s bucket is made of loose material
4) Kawasaki 957V-2 loader has two back hoes
17-  One of the features of a loader, according to the passage, is that it..............
1) can funetion as portable dump truck as well
2) does not push what it collects across the ground
3) has an independent electric motor for each wheel
4) has devices to handle large bales of hay or straw
18- The passage mentions that..............
1) loaders often use a diesel electric propulsion system
2) Front Loaders have two parallel front buckets
3) the world’s largest loader 1s made in Longview. Texas
4) a bale grappler has a small "clamshell" bucket on each side
19- It is stated in the passage that............
|} large loaders are equipped with clamshell buckets
2) Excavator Loaders are very common in the UK
3) loaders have a permanently mounted attachment
4) backhoe loaders were first invented by JCB



20- The word ‘trench’ in the passage (underlined) is closest to......ccuuuue
1) field 2) stream 3) store 4) channel
PASSAGE 2

A telescopic handler. or telehandler. is a machine widely used in agriculture and industry. It is
similar in appearance and function to a forklift but is more a crane than forklift. with the
mereased versatility of a single telescopic boom that can extend forwards and upwards from
the vehicle. On the end of the boom the operator can fit one of several attachments, such as a
bucket, pallet forks, muck grab, or winch. In industry the most common attachment for a tele-
handler is pallet forks and the most common application is to move loads to and from places
unreachable for a conventional forklift. For example. telehandlers have the ability to remove
palletised cargo from within a trailer and to place loads on rooftops and other high places. The
latter application would otherwise require a crane, which is not always practical or time-
efficient. In agriculture the most common attachment for a tele-handler is a bucket or bucket
grab, again the most common application is to move loads to and from places unreachable for a
'conventional machine’ which in this case is a wheeled loader or backhoe loadal. For example.
telehandlers have the ability to reach directly into a high-sided trailer or hopper. The latter
application would otherwise require a loading ramp. conveyor. or similar. The advantage of the
telehandler is also its biggest limitation: as the boom extends or raises while bearing a load. it
acts as a lever and causes the vehicle to become increasingly unstable. despite counterweights
in the rear. This means that the lifting capacity quickly decreases as the working radius
(distance between the front of the wheels and the centre of the load) increases. When used as a
loader the single boom (rather than twin arms) is very highly loaded and even with careful
design is a weakness.

21- According to the passage,......cc.ccoviun
1) cranes are practical multi-purpose machines
2) loading ramps can directly reach into a hopper
3) early telehandlers worked like advanced winches
4) buckets are a common attachment for large tele-handlers
22- The passage suggests that.............
1) wheeled loader are regarded as 'unconventional machines'
2) the levers on the boom should extend to raises the load
3) mechanical booms can work as well as telescopic booms
4) telehandlers function best at a reduced working radius
23-  We understand from the passage that............
1) bucket grabs are not practical for moving or lifting light loads
2) twin-armed booms can be very highly (but not heavily) loaded
3) forklifts cannot remove palletised cargo from within a trailer
4) telehandlers can be attached to a high-sided trailer or hopper
24- It is stated in the passage that.......cc.canann
1) telehandlers are fitted with counterweights at front
2) it is possible to attach a muck grab on a telehandler
3) telehandlers are used more often in agriculture
4) adapted tele-handlers are suitable for use at home
25- The word *versatility’ in the passage (underlined) is best related to...............
1) adapt 2) pull 3) function 4y lift



PASSAGE 3

A flail mower is a type ol powered garden/agricultural equipment. which is used to deal with
heavier grass/scrub which a normal lawn mower could not cope with. Some smaller models are
self-powered, but many are PTO driven implements. which can attach to the three-point
hitches found on the rear of most tractors. This type of mower is best used to provide a rough
cut to taller grass where contact with loose debris may be possible such as roadsides. The flail
mower gets its name from the use of "flails" attached to its rotating horizontal drum. Many
implement companies also refer to the flails as knives or blades. The rows of flails are usually
staggered to provide a complete cut. The flails are attached to the drum using chain links or
brackets. depending on the manufacturer. The rotating drum is perpendicular to the axis of the
tractor. The PTO driveshaft along the tractor's axis must make a right angle through the use of
a gearbox in order to transfer its rotational energy to the drum. As the drum rotates, centrifugal
force pushes the flails outward. Standard flails are shaped like an extruded "T" or "Y" and the
chain attaches to the bottom. There are also proprietary flails with different shapes for
shredding larger brush and others that leave a smooth, finish cut. If a flail strikes an immovable
object. it simply bounces off. Other rotary type mowers have a tendency to grab and throw the
object out of the mower deck if its small enough. This tact makes the flaill mower best suited
for areas where thrown objects would cause damage. Flail mowers may also be used in a more
or less upright position for trimming the sides of hedges. They are often called hedge
cutters then.

26- The passage suggests that the ordinary flail mower..............
1)does not use centrifugal force to pushes the flails
2) does not leave a smooth. finish cut in its job
3) cannot work as a normal lawn mower
4} is usually not a PTO driven implement

27-  The passage points to the fact that hedge cutters are a special type of ...............
1) rotational lever 2) flail mower
3) rotating horizontal drum 4) extruded machine

28-  According fo the passage,.........couene
[} not all manufacturers attach the flails to the drum using brackets
2) Mails striking an immovable object bounce ofT only in the middle
3) Mail mowers are not used in areas where grass has to be cut sideways
4) a tractor's axis is at a right angle to the rotational force of its gearbox
29-  We understand from the passage that lawn mowers..............
1) shred larger brush into various shapes
2) get objects thrown on their own decks
3) are not normally be used on roadsides
4) move across the axis of PTO driveshaft
30- The word *stagger’ (underlined) in the passage best refers arranging the blades so
that they....coovnveen
1) are not in line 2) do not move backwards
3) are not in an upside position 4) do not push too hard
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